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QUESTION 1

What is the default File System Type for VNX File? 

A. UxFS 

B. RawFS 

C. MGFS 

D. MPFS 

Correct Answer: A 

 

QUESTION 2

When performing switch maintenance, a customer accidentally disconnects all network connections to an active VNX
Data Mover. How does VNX handle this situation? 

A. The primary Data Mover remains active. 

B. The active Data Mover immediately fails over. 

C. The active Data Mover fails over after 30 seconds of lost connectivity. 

D. The VNX always notifies EMC Customer Service of the problem. 

Correct Answer: A 

 

QUESTION 3

When moving a VDM to a different Data Mover, what is one requirement of the target Data Mover? 

A. Network interface names used on the source must be the same on the target. 

B. The VDM must be loaded on the Source. 

C. A CIFS server with the same name must exist on the Target. 

D. The target Data Mover must be configured as a Standby. 

Correct Answer: A 

 

QUESTION 4

A customer wants to decrease the size of VNX pool LUNs presented to an MSCS cluster using the LUN shrink feature. 

What do you advise? 
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A. The LUN shrink feature is not supported with MSCS clusters. 

B. LUN shrink is only supported with stand-alone hosts. 

C. The accessible volume space on the host must be reduced first. 

D. The LUN shrink feature will allow them to reduce LUN sizes for this cluster. 

Correct Answer: A 

 

QUESTION 5

The file system for an SQL database is running low on available capacity. The database is running on a Windows
Server 2008 host connected to a VNX Block array. The file system LUN is configured in a FAST VP enabled pool. 

How can the storage administrator add capacity without disrupting the users? 

A. Expand the LUN online and then extend the file system on the host 

B. Create a larger LUN then use VNX LUN migration to migrate the data 

C. Expand the LUN into a MetaLUN and extend the file system on the host 

D. The LUN cannot be expanded or migrated without disruption to the users 

Correct Answer: A 

 

QUESTION 6

Where can CPLs be created? 

A. Traditional LUNs 

B. Thick pool LUNs 

C. Thin pool LUNs 

D. Clone groups 

Correct Answer: A 

 

QUESTION 7

What describes the VNX Snapview Snapshot source LUN write process? 

A. Host issues write. Old data is copied to the reserve LUN pool. New data is written to the source LUN. 

B. Host issues write. New data is written to a new location. 

C. Host issues write. Old data is copied to the source LUN. New data is written to the reserve LUN pool. 
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D. Host issues write. Data is written to the reserve LUN pool. 

Correct Answer: A 

 

QUESTION 8

How does the VNX handle LUN ownership changes so that the access path to the LUN is available to both SPs
simultaneously? 

A. By using ALUA Failover Mode. 

B. By the SPs sharing ownership of the LUNs. 

C. By the host software being aware of SP ownership. 

D. By the LUN being trespassed. 

Correct Answer: A 

 

QUESTION 9

Which Linux kernel supports dynamic LUN scanning? 

A. 2.3 

B. 2.4 

C. 2.5 

D. 2.6 

Correct Answer: D 

 

QUESTION 10

Which protocol is supported by CAVA? 

A. CIFS 

B. NFS 

C. FTP 

D. SFTP 

Correct Answer: A 

 

QUESTION 11
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A Windows Server 2008 host is connected to a VNX series array, using dual FC adapters and running PowerPath 5.5
software. What is the correct ALUA failover mode for this host? 

A. Mode 0 

B. Mode 1 

C. Mode 2 

D. Mode 4 

Correct Answer: D 

 

QUESTION 12

A storage administrator configured a SnapSure snapshot schedule for a heavily utilized production file system.
According to the schedule, three snapshots are to be created per hour, with the first snapshot created at one minute
past the hour. 

After an hour, the administrator noticed that the first snapshot was not created on time. 

What is the cause of this issue? 

A. The VNX for File database backup has started in the background. 

B. The PFS SavVol has run out of space. 

C. The VNX for File has experienced a network outage. 

D. The HWM was not configured manually for Auto Extension. 

Correct Answer: A 

 

QUESTION 13

A Storage Administrator is configuring a new VNX array. There are 10 MS Exchange Servers to be connected to this
array. Each of these Exchange servers hosts users from a different time zone so performance spikes are expected at
different times during the day. 

What configuration will maximize overall performance for these hosts? 

A. Thick LUNs from traditional RAID Groups 

B. Thick Pool based LUNs from one wide pool 

C. Thick Pool based LUNs from several isolated pools 

D. Thin Pool based LUNs from several isolated pools 

Correct Answer: B 
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QUESTION 14

For all Linux environments, how many Fibre Channel initiator ports are supported on a single host? 

A. 16 

B. 8 

C. 12 

D. 24 

Correct Answer: A 

 

QUESTION 15

How many local user accounts can be created per VNX CIFS Server? 

A. 128 

B. 256 

C. 1024 

D. 2048 

Correct Answer: A 
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